SM3 8.3 answers

1. Vertical shift: up 1
Amplitude: 6

Phase shift: right
b: 4 Period:g

2. Vertical shift: up 2
Amplitude: 1

Phase shift: Ieftg

b: 1 Period: 2@
3. Vertical shift: up 2, Amplitude: 1
Phase shift: right 2w, Period: 2m
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4. Vertical shift: none or 0, Amplitude: 2

Phase shift: none or 0, Period: 2?”

5. Vertical shift: down 3, Amplitude: 1
Phase shift: none or 0, Period: 8w
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6. Vertical shift: up 2, Amplitude: %
Phase shift: left T, Period: 2m
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7. Vertical shift: down 1, Amplitude: 3
Phase shift: left g, Period: m
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8. Vertical shift: none or 0, Amplitude: 2
Phase shift: right m, Period: 2?1r
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9. Vertical shift: down 2, Amplitude: 2
Phase shift: none or 0, Period: 6w
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10. Vertical shift: up 2, Amplitude: 3, reflect over
X-axis
Phase shift: none or 0, Period: 2w
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11. Vertical shift: none or 0, Amplitude: 2, reflect
over x-axis

Phase shift: right %, Period: 2m




